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-8 H F Ot 1,238,300 « 1 120% 1,486
-hEE 100,000 1 122 1,200
—AX = 62,4703 »1H »252 1,562
-Z A S A 130,000 1 122 1,560
) =) 70,0003 x1H « 128 840
-E2=E 1,238,300 »1H x50%*23] 1,239
-ns2 X 70,0003 x 18 128 840
-Aesd 1,238,300 »1H »10%*12& 1,486




SN A
R WHSABH (ABE)(IEH/IIE)
2

&l |§5‘H| (chel & 9l)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
Jl =23t 189,635 185, 160 4,475
SFAS3H| 127,815 125,460 2,355
201 LEr2 Y| 127,815 125,460 2,355
01 At 22l Yl 25,064 25,334 N 270
O1.8t=2H| 20,500
-EA2Y deEtxZ2H| 11,500,000& 11,500
-= & 9,000
° X 50,0003 * 14 %119 5,950
° =7 50,000 *1H x61 3,050
O5.= &t 980
-2EA2Y S 980,000& 980
O6.9xtz 3,584
-HER2Y dHYXsE 2,000,000& 2,000
-SA| Xz 132,000& = 1CHx12& 1,584
02 33294l 102,751 100, 126 2,625
O1.383224HA 80,455
-MIIR3 5,415,000& 5,415
IS XH(EY) I3 50,000& x12& 600
-MolEE AIEE 840,000& 840
-H2ot s 2 10,000& x518S *12& 62,160
QHZHEHASFAE &2
60,0002 x6S *12& 4,320
-fHZsta! &8JIe3 100,000& = 12& 1,200
-l Z2sUEs Mot MAEE
10,000& *x12& 120
-IPTVE BESY MEE 25,000 x12& 300
—ESHENE Y2 (X 50,000& *2CH *23] 200
—ENYS RER= 3,300,000& 3,300
SPNE= DN SR = 2,000
(L E) 700,000& = 1CH 700
S (g4a) 700,000& = 1CH 700
&I XS XH(EV) 600, 000& = 1CH 600
0O2.492 4| 5,872,000 5,872
O3. A& &8l = X bl 7,768
-2 oS KR X HI 5,000& x518& 2,590
-A 2 S XYl 4, 2223 *800 m* 3,378
=== =N 1,800,000& 1,800
O4. Xt & | 8,656
-3l2(A¥) 3,338,000& = 1CH 3,338
S (g4d) 5,318,000& = 1CH 5,318
A= 0| 50,160 49,500 660
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2A: &HotH
Hu: Mol SHUHSY(LNITHN/AVHE)
el BEE MEBHY Z4 (el @2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 & bl 2,765 3,629 864
QYA SRU(3LR)
1,600& 247 *80L x90% 2,765
2 SH Y| 146,675 140,622 6,053
101 @121 125,236 119, 183 6,053
04 J|I2ZtHZ2E2XNEE* 125,236 119, 183 6,053
O2Xxd+=s5& sZFH 10,563
-J=23 51,7603 *3H 61 9,473
AEE J|28E23 9,473,000& *11.5% 1,090
OEXL==2% S54&4a Ha 13,852
=23 51,7603 *4H x60 12,423
-AEE J|l2832 12,423,000 *11.5% 1,429
OHINEYE ==& HLo 3,464
PAR=t=1 51,760& 1 60 3,106
A28 JI2R2E2 3,106,000& *11.5% 358
O M AL 832 11,543
23 51,7603 *8H x25 10,352
-AEE J|&aE2g=2 10,352,000& *11.5% 1,191
O2SI2X((0|JF,gxZ)2e] 5,195
=23 4,659
c XX 51,760& *12H x5 3,106
° Ol JFRI =2 51,760& x6YH x5 1,553
-AEE J|&28g=3 4,659,000& *11.5% 536
OE=z2AN&E2 FH| 10,389
PAR=t=1 51,760& *6H x30 9,317
-AUEE JI22E23 9,317,000& *11.5% 1,072
Os=gX22 2,330
-J=23 51,7603 x5H x3 x33] 2,330
Otz XNZol(oredxtel &=) 67,900
=23 200,000& 359 »9& 63,000
-85 L 2U&EY| 140,000& *35H 4,900
201 et A bl 19,439 19,439 0
01 AFR2 22l Yl 6,059 6,059 0
O1.dBtx=2H| 1,500
AL MSAR SSSHEA HIIX LA
150, 000& *3H A %23 900
~HOIAE & HASSE SSSHEA HSx
HAE 150, 000& *2JH A x23] 600
O6.9xtz 4,559
-oHorE A 2 XHEsFEY AUt
500, 0003 x1CH*x7L 3,500




2N Hote
Hu: Mol SHUHSY(LNITHN/AVHE)
S

SR

SA - ZE-B(EN) - NRAY - B S il &t o il
“HolNE zexgy gis
35,000 *1,210m *25/1,000 1,059
02 =224l 13,380 13,380
O1.223LAHA 7,080
HOIAIR Y HASSE HIIR3
50,0003 200 2~ =128 1,200
CHEIANE U HABSE 2593
120,000 200 A+ 12& 2,880
“NASMRAXN MRS
30,000 *20 & x12& 720
“NALMRAXN ===
50,0003 200 2~ x128 1,200
-&GtAIE CCTV CIHY 3R =
30,0003 «33| & 12)4 & 1,080
OS8. A€ &I Xl 6,300
-HAS KA SSEEE |FALZ4H
250, 0003 *34 2 23] 1,500
-HOtAIE ¥ HASSE SSSHEFLY RAE
==t 300, 000& *2JH A x33| 1,800
HEH ST SN S LA
500,000 *x2JH A 33| 3,000
206 M= Hl 2,000 2,000
01 =8l 2,000 2,000
OE2ZAIEE EUAZE M7 2,000,000 2,000
HotH XNYMNLAL(ZELXNSML/NSALE Al 130,468 130,468
KNG =3 A 130,468 130,468
A2 XS AR O 130,468 130,468
401 Al Bl 28I 130,468 130,468
01 A& Hl 130,000 130,000
OEos &4 & KA B4 40,000,000 14 40,000
O2tU sIIBAIE ZHIZSA
20,000,000& » 14! 20,000
O A2 FCQHEHAANLE FHISA
10,000, 000& 14! 10,000
Ot Moll== & 227X E=
10,000, 000& * 14! 10,000
OZaol E3tiel E=2 EXSA
20,000,000 » 14! 20,000
OFol &diicl s2 ZEIA
15,000, 000& 14! 15,000
OZaol #&l1el OtSot== XS A
15,000, 000& 14! 15,000
03 A& S THHI 468 468
OLAZXNAAMIMLAME AL
130,000,000 *0.72/100%50%<& 2+> 468




2A: &HotH
M HN2ABYI(H6IH)(IIEHDIIE)
gel: o2yl eEH)
SH-HH . B(SH) - HBAMY - B2 il 2
HESHAMI (HotH)(IIEHDIIE) 285,401 274,194 11,207
ol 23| 27,729 26,812 917
Mg A 27,729 26,812 917
101 2124 d| 27,729 26,812 917
03 RIAHAEZZXE > 27,729 26,812 917
OsX3g & zel 27,729
PAR=t=] 1,153,300& x1H »12& 13,840
-2 HIHAt= 60,000 x1H x12& 720
A2 1,153,300& * 12 *400% 4,614
8324 1,153,300& * 1Y *50%*23] 1,154
-g &Syl 1,153,300 1 *120% 1,384
-8 M= A 130,000& x1H x12& 1,560
- E 2 XH| 70,000& x1H x12& 840
-Ned 1,153,000 *1H *10%* 12& 1,384
PN 58,520 *1H x21 1,229
s 20,0003 *3G x12& 720
ElGENESES =y 23,600 x1H x12& 284
234l 257,672 247,382 10,290
N2l 178,312 178,262 50
201 L2 Y| 178,312 178,262 50
01 At 22l Yl 26,794 26,744 50
O1.dbetx=2H| 21,950
-EA2YE et Z2H| 12,950,000& 12,950
-= & 9,000
2 x| 50,0003 * 14 %119 5,950
== 50,0002 *1H x61L 3,050
O5.= &t 1,260
-ENE2Y S 1,260,000& 1,260
O6.9xtz 3,584
-HER2Y MUY XE 2,000,000& 2,000
-SA| Xz 132,000& = 1CHx12& 1,584
02 33294l 151,518 151,518 0
O1.383224HA 134,444
AP A= 7,200,000& 7,200
IS XH(EY) I3 50,000& x12& 600
-AolE MEES 1,500,000& 1,500
2ot E 23 120,000,000& 120,000
-IPITVEEXSY AIEZ 25,000& x12& 300
—EHEINE RS2 (X)) 50,000& 23] 100
—ENES RERS 3,344,000 3,344




AN ot
HHM: HH2HHHI(HGHH)(JIEH/DIE

Sl =B (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
“XFEHASUS 1,400
st (2 d) 800,000& +1CH 800
HI| XS XtH(EV) 600,000 = 1CH 600
O2.¢ =l 5,668,000& 5,668
O3. A€ ZHI =Xt 8,068
-2etsS KXl 5,000&+710S 3,550
-A =KXl 4,222@ %691 m’ 2,918
-Heg IS Xl 1,600,000 1,600
O4. Xt & o el 3,338
-StE(a¥) 3,338,000 *1CH 3,338
AR FE N 66,240 56,100 10, 140
202 044l 66,240 56,100 10,140
01 = LH o4 1l 66,240 56,100 10, 140
OFYUPFAAHE 20,0008 *16F 162 122 61,440
OFQELPFTIAHUI (HAXY)
10,0003 x1&« 162 122 1,920
O&=UE 2R A 20,0003 «16%H 32 «3& 2,880
R =2 11,520 11,520 0
203 YR =&t 11,520 11,520 0
01 /122 =4 6,600 6,600 0
OJI&2g S =AH| 6,600,000& 6,600
02 et 2= &H| 720 720 0
OIS R =AM 40,000& 18H 720
04 FN2ELRZ=TH| 4,200 4,200 0
ORMSLELFIHI(ZA:18Y)
350,000& 122 4,200
et & =2 SHSHI 1,600 1,500 100
405 XHoHF S HI 1,600 1,500 100
01 HatL ESFH S 1,600 1,500 100
oo 1,600,000 = 1CH 1,600
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2AM: &sctH
HE: Soi0 SHUNSY(LNITHN/AUHE)
el Zolste HICD CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
01 At 22l bl 2,600 2,600 0
O1.dBtx=2H| 2,600
-= X132 Lot==H| 1,080, 000& 1,080
-R01HH 2 110,000& ~12& 1,320
-d3 X HAH 200,000& 13| 200
02 3524t 8,750 8,144 606
O1.33222HA 6,240
&= 400,000 x12& 4,800
Mol AIEE 30,000 x12& 360
-NM3 3 30,000& x12& 360
—HEHAM(IHY)SHLD A2
60,000& x12& 720
O3. Al &8 & HI S X bl 2,510
-A 2R Xl 2, 7173 x482m 1,310
Lty /"2 A D R K X 1,200,000& 1,200
S MESHE T4 107,184 99,625 7,559
S 2t 11,396 9,951 1,445
101 @ 21| 8,081 7,531 550
04 JIZtHI2E2EXNSE > 8,081 7,531 550
Odt&E ] gAY 8,081
23 51,760& x2H x70 7,247
-AEE J|&a2g=2 7,247 ,000& *x11.5% 834
206 M = Hl 2,765 2,420 345
01 &2 bl 2,765 2,420 345
Ot AY SFUH(3ER)
1,600& 247 *80L x90% 2,765
405 Ko SHI 550 0 550
01 At = S F SHI 550 0 550
SUs ¢94L5)] 550,000 =14 550
ME st A H| 95,788 89,674 6,114
101 2121 4| 89,188 83,194 5,994
04 JIZtHI22XNSE S 89,188 83,194 5,994
OStEIol==2 BHAIZ U A2 A 11,660
23 51,7603 *2H 20 x4 & 8,282
-5 51,760& x2Y %173 1,760
AR asEFIIY 51,760& x2H x4 415
-AEE J|&a8g=3 10,457,000& *11.5% 1,203
Ostolgsse 34 3,464
|23 51,760& 12 60 3,106
-AIEE I3 3,106,000& *11.5% 358
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-& X 250,000& =154 3,750
-9 Xt 50,000& *40H 2,000
WG MEEH =4 91,448 85,804 5,644
gt ate| 8,510 8,298 212
101 @124 dl 5,195 4,842 353
04 JIZHHZ2XREE S 5,195 4,842 353
OBdHE Il A 5,195
-JlE= 51,7603 » 1«90 4,659
428 JARE3 4,659,000 x11.5% 536
206 M= Hl 2,765 3,456 A 691
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OgAMY RFEU(HLR)
1,600& 244 *80L x90% 2,765
405 TtHatF S 550 0 550
01 et EFSFHSHI 550 0 550
OslE &9a=)| 550,000& = 1CH 550
M s H F Y| 82,938 77,506 5,432
101 @124l 67,458 66,826 632
04 JI2ZtHZ22HEE = 67,458 66,826 632
OJIAMOIE2SsE 2l 5,772
-Jl=s 51,7603 x5 x20 5,176
4028 D 5,176,000& x11.5% 596
OXH LM AR 2l 1,156
R 51,7603 x 120 1,036
A2 J|1&2=2 1,036,000& *11.5% 120
O=sEsiael 2,330
-JlE=a 51,7603 «5H 32 33| 2,330
ostg X ol( &E) 58,200
-JlE= 200,000& *30H x9& 54,000
-2 2 2 140,000& 30 4,200
201 Let24d| 15,480 10,680 4,800
01 Al 22l 2,400 2,400 0
Of.getg 400
DINMOIESSE Ha X AR
200,000 *20H 2~ 400
O6.2dxt=z 2,000
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02 =224l 13,080 8,280 4,800
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“JIHANZ(HAER) SR 2223
100,000& =128 1,200
JIHH XSGHLA (B ELRGNL /XA LZ Al 130,468 130,468 0
NS F0 =3 A 130,468 130,468 0
A2 XS ALE O 130,468 130,468 0
401 A& HIZ 201 8] 130,468 130,468 0
01 A& HI 130,000 130,000 0
OLets de & B 40,000,000& * 14| 40,000
Oz A2 FUBAAL X & B
20,000,000& =14 20,000
Oz sSIIBtAIE 2 THol ASAIE HHIS A
20,000,000& =14 20,000
OJ1H Jtetee] OF20t2 FHISA
10,000, 000& * 14! 10,000
O2JIAH Jteriel ot2etd HUlS At
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OJlIA=2stel & 2el 26,952
-Jlga 1,103,300 «1H «12& 13,240
-4 1,103, 300& » 1H x400% 4,414
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01 At 22l bl 26,794 26,744 50
O1.28t=2H| 21,950
-EA2Y et Z2H| 12,950,000& 12,950
-SH A H| 9,000
A 50,0003 *x1H 119 5,950
° =& 50,000& x1H »61 3,050
O5.= &t 1,260
-2EA2Y S 1,260,000& 1,260
O6.d Xtz 3,584
-HER2Y Ytz 2,000,000& 2,000
-S A Y2 132,000 1L~ 12 1,584
02 33249l 124,914 124,914 0
O1.2Z2222HA 108,940
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Mot AIEE 800,000 800
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-2A 2R XH| 2,717 & 447 m 1,215
===l RN ] 1,000, 000& 1,000
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O&=HE 220 20,0003 x16H 32 «3& 2,880
LR =AH| 11,520 11,520 0
203 ¥ S =&l 11,520 11,520 0
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02 A& H =& 720 720 0
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ORNSII2FTAH(Z&:18Y)
350,000& 12 4,200
ek & SSFHSHI 2,000 1,900 100
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